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All results for Copper isotopes

Copper 53 (Z2=29, N=24) Copper 54 (Z2=29, N=25)
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Copper 57 (Z=29, N=28) Copper 58 (Z2=29, N=29)

T T T T T @ T T T T T @ el
L A ouf oo 3 2 q a Protons ~ Protons
LA =0 Neuwrons - ot h Neuwrons = & ot Neutrons

] F 3 4 oo 1 E
/ 3 > € / > 3
/ =9 A2 Soot E pel 2 Soot E
& gt S 4T * 5 T
Protons . € 0 Protons : : € g 4 0
N, Mo m—iS LS S N, v >
[ B ] £ B ]
! |RARARRRARN RARAN 1 |MARANRARAR]
TR PRI T AT T
S -
T § Protons T s LU . A
S Newons Neuirons
Protons > = Protons ~150f E
12 Newons - E 12~ Neurons S
o) < 150 °
2 e 2 10u0F 3
€ = T T T8
& 100t ] o [
19 B = 1o B = 5000 E
2« E
ol VAT ol P, ST | N1
A L s e I L S E e
o ]
2 Sl — 2 S 107 -
w 2 A w g 12
=) < g
w 4 w
05 Bl & [3 s 14 T 7
08 K
Ll el Ll I Lol |
05 00 05 10 05 00 05 10 05 00 05 10 05 00 05 10 05 00 05 10
8 B B B 8

HFB-D1S Bruyéres-le-Chatel HFB-D1S Bruyéres-le-Chatel



R/, A"

All results for Copper isotopes

Copper 59 (Z=29, N=30) Copper 60 (Z2=29, N=31)
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Copper 63 (Z=29, N=34) Copper 64 (Z=29, N=35)
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All results for Copper isotopes

Copper 65 (Z=29, N=36) Copper 66 (Z=29, N=37)
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Copper 67 (Z=29, N=38) Copper 68 (Z2=29, N=39)
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Copper 69 (Z2=29, N=40) Copper 70 (Z=29, N=41)
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All results for Copper isotopes

Copper 71 (Z2=29, N=42) Copper 72 (Z=29, N=43)
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Copper 73 (Z=29, N=44) Copper 74 (Z=29, N=45)
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Copper 75 (Z=29, N=46) Copper 76 (Z=29, N=47)
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All results for Copper isotopes

Copper 77 (Z=29, N=48) Copper 78 (Z=29, N=49)
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Copper 79 (Z=29, N=50) Copper 80 (Z2=29, N=51)
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Copper 81 (Z=29, N=52) Copper 82 (Z=29, N=53)
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All results for Copper isotopes

Copper 83 (Z=29, N=>54) Copper 84 (Z=29, N=55)
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Copper 85 (Z=29, N=56) Copper 86 (Z=29, N=57)
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Copper 87 (Z=29, N=58) Copper 88 (Z2=29, N=59)
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All results for Copper isotopes

Copper 89 (Z=29, N=60)
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